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Read the questions carefully. Answer all questions.
Write your answer in the box provided. (20 x 2 = 40 marks)

1. Count the dots. Write the number and word.

number

word




2.

Circle the shape that comes next in the pattern below.

2 |
3. Look at the numbers below.

- a)  Cross out (X) the greatest number,

b)  Circle (O ) the smallest number-.

4. Complete the number pattern.
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How many fewer fish thanducks are there?
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tens and 4 ones make




7.  Complete questions (a) and (b)

a) is 2 more fhaﬁ'68. |

b) is 10 less than 75.
8.  Look at the picture below. Complete the table.
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Shapes How many?
(a) Circle |
(b)  Triangle




9. Look at the picture below. Fill in the correct answer.

dog

bone

There are more'dogs than bones.

10.  Arrange the numbers below from the smallest to the
greatest.

Y D D (D
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strallest



1. Match 2 pieces to form a rectangle.

12,

How many more sweets does May have than David?

May has

Mmore sweets than David.




13. Look at the number cards below and answer the questions.

a) The smallest number formed using 2 cards is

b) The greatest number formed using 2 cards is

14, Fill in the missing numbers.

a) 1less than 90 is

b) 1 Tén more than 50 is




15. Complete the number pattern below.

16. Look at the shapes in Set A.

s

Circle 2. shapes which belong to Set A.




Look at the pictures below and answer Questions 17 and 18.

”Jr'A | Jar‘B‘

17. There are 4 more beads in Jar than in Jar C.

18. There are 6 fewer beads in Jar D than in Jar A.
Draw the beads in Jar D.



19. Sally is thinking of a 2-digit number-
The tens digit is 1 more than the ones digit.
The ones digit is 6.

The 2-digit number is

20. Study the pattern below. Fill in the missing numbers.
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1. 57, fifty-seven
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10.35, 48, 75, 82
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13.(a) 26
(b) 87
" 14.(a) 89
(b) 60
15.20, 26
16.
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19.76
20.100, 1
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